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Instructions for the candidates :-

1. wRiendi OMR SR U3 UR (0T U YRABT HAID (10 3l BI) JaeY

ford |

Candidate Must enter his/her Question Booklet Serial No. (10

Digits) in the OMR Answer Sheet.

2, TR} JUTAYT U Yea] H B SR < |

Candidates are required to give answers in their own words as far

as practicable.

3. TN IR BIRR R &y gU of gunies FIfde a=al 3 |

Figures in the right hand margin indicate full marks.

4. gedl I SMYdd UG & oy qRienfal &I 15 e &1 ifaRed a9

feam T 2



15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

g8 U YRaPT 31 WSl H B, Gue—3 Ud Hus—q |

This question Booklet is divided into two sections: Section-A and
Section-B.

gus—3 H 70 a&jfTe U g, FOH W Bl 35 UvAl &1 SR _Al
AfFEard g1 35 W Af¥® YAl & IR o W UM 35 IR BT T

Aedidhd BT | UA® Ued & forw 1 &fa uiRa 8| 98 SR < & forg

Iuee PR T OMR SR 99 # &3 T &1 g &I el /BTl afed

U9 A WG AN | [l fl TR & glgeR/dRel uarel /s / ARgA S

@ OMR STR—YRAST H WINT HRAT 741 7, 3T GReAT RomH 37T
BT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only 35 will be evaluated. Each Question
carries 1 mark. For answering these darken the circle with
blue/black ball pen against the correct option on OMR answer
sheet provided to you. Do not use Whitener/liquid/blade/nail etc.

on OMR-Sheet, otherwise the result will be treated invalid.

Gus—q H 20 TYSRII U & | UAb & oy 2 b MeiRa g, R d |

frgl 10 Ul &1 IR <A1 SIfarRd B | 39 AfaRad, 39 WS H 6 e



TR g i 2 ude U o forv 5 s feiRa 2 fod @
fobgl 3 T &1 IR <7 S7fard 2 |

In Section-B, there are 20 Short answer type questions, each
carrying 2 marks, out of which any 10 questions are to be
answered. Apart from these, there are 6 Long Answer Type
questions, each carrying 5 marks, out of which any 3 questions are

to be answered.

8. ¥l UPR & Seldei-h SUBRUT BT SKIATA Yuidal drerd ¢ |

Use of any electronic appliances is strictly prohibited.

Section - A (Objective Type Questions)
Yus—3 (qxqf-1s u¥)
UeT G&IT 1 A 70 db b UAP U b AT IR fdwey Ry v § oM |

g el 7 | fhgl 35 oAl & IR AU gRT g Y el fddhed B OMR—3¥e W

fafeed & | 35 X 1=35

Question No.- 1 to 70 have four options, out of which only one is
correct. Answer any 35 questions. You have to mark your selected option on
the OMR-Sheet. 35x1=35
1. T ¥ Y P AR I H d<d © °

(A) G931 BT Il (B) gRa<id W) TR

(C) Tawdarr o1 (MESEEGESE]

Which of the following is an element of sensing the opportunities ?

(A) Ability to perceive (B) Insight into the change

(C) Innovative quality (D) All of these



F1 {1 MRed ol & g9 oo SHeMT IR &9 1 a9 BIdl &7
(A) &, T3 B | (B) 7T&1, STodT g

(C) wTea JTEAT & forg (D) Swiw, ¥ & PiE

Is it necessary to give due consideration on internal resources before
initiating a particular decision ?

(A) Yes, It is necessary

(B) No, not necessary

(C) Necessary for External resources

(D) None of the above

SELIRE
VRER:ED CIREISED
(OEXEIN (D) SRa# o= arer

Entrepreneur is —
(A) Manager (B) Director

(C) Employee (D) Risk taker

7 # | PT—AT TR BT IGR & ?

(A) TITaRYT # fIeM™ TR (B) fia sraw=

(C) SWRI&T (A) 3R (B) & (D) SWRIET (A) 3R (B) # @I &l
Which of the following is a type of opportunities ?

(A) Existing opportunities in the Environment.

(B) Created opportunities

(C) Both (A) and (B) above



(D) Neither (A) nor (B) above

= § 9 o1 99 9 IST Uh GET T ?

(A) oI (B) gaT

(C) fasr (D) SRew wawer

Which of the following problem is connected with Business ?
(A) Profit (B) Money

(C) Sale (D) Risk Management

3R e UBR & BT € ?

(A) T (B) =1

(C) = (D) =

How many types of opportunities ?

(A) One (B) Two

(C) Three (D) Four

e feRt MeiRa o=l © —

(A) aRTa BT AT (B) @rawa @1 fawm
(C) ey o1 faem ud 4= (D) 74 9 IS 2l
Economic policies determine the —

(A) Volume of business

(B) Direction of business

(C) Direction and Volume of business

(D) None of these



10.

11.

3T FErIdl & —
(A) Remere

(C) g g
Subsidy is —

(A) Concession

(B) scer

(D) 379 & @Iy el

(B) Discount

(C) Repayment (D) None of these

S 3o Ufhar & enfieT gidr & —

(A) FaTe (B) =g

(C) r3feba

Learning Process involves —

(D) @=Imer, HAYTE, Ud 3fhaT
(A) Drive (B) Cue
(D) Drive, Cue and Response

(C) Response
=1 4 ¥ PI—41 TR b YR B ?

(A) JMT<IR® TITERIT
(C) SWIad (A) 3R (B) i

(B) aT&1 qgiaRYT

(D) SWRIad H 7 (A) 3R 7 (B)
Which of the following is a type of environment ?

(A) Internal Environment (B) External Environment

(C) Both (A) and (B) above
= % & B A7 gargae o fafy 98 7 2

(D) Neither (A) nor (B) above

(A) deror fafdy (B) wiRerer fafy

(C) Arfee feere fafy (D) ScureH fafdr

Which of the following is not a method of demand forecasting ?

6



12.

13.

14.

15.

(A) Survey method (B) Statistical method
(C) Leading indicator method (D) Production method
ART gqargAE & /1 | 9 fw w9 | S Sr © ?

(A) faaor (B) STSTR T

(C) T vd gfid (D) SWRIad T
Demand Forecasting is termed as what out of the following ?
(A) Marketing (B) Market Demand

(C) Demand and supply (D) All of the above
JTBTAT A fba= A8 @1 fafy B ATHS BRal & 2

(A) 9RE |18 G EEREIN

(C) 310RE A8 (D) B HATE
Short-term forecast involve a period of how many months ?
(A) 12 Months (B) 24 Months

(C) 18 Months (D) 36 Months

=1 % | ST gCd IR JAid U J9Td STerdl © ?

(A) Fg&H gTaTaRoT (B) SUTE &1 NI

(C) |t (D) &7 & BIg el
Which of the following factors affects market assessment ?
(A) Micro Environment (B) Production Cost

(C) Demand (D) None of these

IR Jedid @ fory frefaRead § a9 smawas & ?
(A) smafet (B) i



16.

17.

18.

(C) ufcereaert &1 gepfa (D) Swjaa &+l
Which of the following is necessary for market assessment ?
(A) Supply (B) Demand

(C) Nature of Competition (D) All of the above

ISTR B AT B ST ST & —

(A) |7 &1 wfawgaroft (B) arifdes |

(C) 7 (D) ST ¥ & P
Market Demand is Known as —

(A) Demand forecasting (B) Real Demand

(C) Supply (D) None of the above
SYAT BT 97 § A BIF—AT ST R HRA BT IREMIA & 2

(A) wifafdres (B) Yargahiyg

(C) S § 4 7 (A) iR 7 (B) (D) SWrad (A) vd (B)IMf
Entrepreneur have the responsibility to meet which of the following
obligation ?

(A) Statutory

(B) Managerial

(C) Neither (A) Nor (B) of the above

(D) Both (A) and (B) of the above

= A DI T ST B YRR DI A=A T § ?

(A) URMPSH—Td 3fa=el] (B) R 3ra=en

(C) IdTE ISR 3a=eT (D) 91e &1 glg afawen



19.

20.

21.

Which of the following is not a stage of starting of a new venture ?

(A) Pre-Start up stage (B) start-up stage

(C) Product market stage (D) Later growth stage

= 9 PF T SEH B YW b oy URMS Yd 3T H el T8l
2?

(A) TATRIS RO BT ugad  (B) foxira e

(C) SUTE dToTR 3T (D) URf™e gfg araver

Which of following is not included in pre-start up stage while starting of
a new venture ?

(A) ldentification of business concept

(B) Financial planning

(C) Product market study

(D) Early growth stage

SUHH BT A R HRaT 2

(A) THIDT ATIR (B) @re¥l @1 SfEreR

(C) ArEdl @1 &I &I JrArdr (D) 78 9| BIg T8I
Selection of an Enterprise depends on —

(A) Sole Trading (B) Right of Entrepreneur

(C) Self Ability of Entrepreneur (D) None of these

IR Sifd & oIy 69 uge] a1 b Usciall WX &9 <1 3Ma%dd © ?
(A) TP T & Srgey (B) yarfe = wrfdy
(C) aer & Iucterdar (D) S |+l



22.

23.

Which aspect or aspects are to be kept in mind for preliminary
Screening?

(A) Consistency with Government

(B) Compatibility with promoter

(C) Avalilibility of Input

(D) All of the above

QUHH BT AT B I & o A o5 § —

(A) ScTe (B) fauor

(C) ol ) Suerer (D) 57 & T T

The point to be considered while selecting an enterprise is -
(A) Product (B) Marketing

(C) Availability of Capital (D) None of these

= I e F9a & IR 9 S 9HRT T8l © ?

(A) SIREH yaee (B) o™ f=ate ud =g fisor

(C) e “fa (D) wfT @1 ugy

Which of the following is not a problem related to expansion of
business ?

(A) Risk Management

(B) Profit planning and Expense Control

(C) Price Policy

(D) Trend of Demand

10



24, HA SUHH DI AP I & —
(A) GuRHIT HRATT oled (B) wraqof frarst
(C) (A) wd (B) =i (D) Swjaa ¥ 7 (A) &R 7 (B)
Requisites of successful Enterprise are —
(A) Well defined organizational goals
(B) Effective planning
(C) Both (A) and (B)
(D) Neither (A) nor (B) of above
25. U el STl H o@ed & = 01 8 =Ry —
(A) g BT (B) =101 @t
(C) Favac T (D) 5% & =Y

A Successful Entrepreneur must possess the quality of the following :-

(A) Leadership (B) Control
(C) Innovation (D) Al of these
26. oM BT ' —
(A) sceptet @ forg (B) wfasy & ferg
(C) o< & forg (D) =t & forw

Planning is for —

(A) Past (B) Future
(C) Present (D) All
27.  fraeE @ -

(A) TazTdh (B) TaRI®

11



28.

29.

30.

(C) I @1 qqia] (D) &< &I qqiT

Planning is —
(A) Necessary (B) Unnecessary
(C) Wastage of time (D) Wastage of money

I (RIS BT UHE He<d © —

(A) Frdereiall @I amefid o 4§ (B) feen—cwe 4

(C) Srer oIfdd U @’ H (D) Swja |+l

The main importance of business planning is —

(A) In attracting investors (B) In providing guidelines

(C) In providing leverage (D) All of the above.
U 3] IoT Bl & —

(A) T (B) |@HI oI @l

(C) irerget (D) weprof

A good plan is —

(A) Expensive (B) Time Consuming
(C) Flexible (D) Rigid

Faard RIS & =7 o/a9d © —

(A) ITERT BT qUH (B) 3rfererm=dT HRier

(C) (A) 3R (B) = (D) 7 (A) 3R 7 (B)

The main Components of business planning are —

(A) Business description (B) Executive Summary
(C) Both (A) and (B) (D) Neither (A) nor (B)

12



31.

32.

33.

34.

SMYFBIHRYT GRS & —

(A) ScuTet BT (B) Scure

(C) wfsansit 1 (D) &mra Bl
Modernisation improves :

(A) Products (B) Production

(C) Processes (D) Capacity

aRATR aRarsreil & fr=forRed & & @9 wwfa =8 & ?

(A) fasTel IeuTe (B) @1 IcTG

(C) uRaR e (D) Sremafef

Which of the following is not connected with quantifiable projects ?
(A) Power generation (B) Mineral production

(C) Family welfare (D) Water supply

aRarerT =1 & wwfad 81 8id —

(A) Tavai (B) HouT wIfe
(C) S (D) T
Project is not concerned with the following —

(A) Innovation (B) Vision

(C) Risk (D) Creativity

URITSTHT Ug=m # 3Ma9gahdl aldl & —

(A) 3r39d (B) dR<h &1 SUIM

(C) 3rg9d wd ARsh &1 IWIRT &1 (D) 399 | PIg 78l

13



35.

36.

37.

In Project identification is needed -

(A) Experience
(B) Use of mind
(C) Both Experience and use of

(D) None of these

qRIATSTT Ffcded IR 8 —

(A) qeat &1

(C) fareaiyur Bt

Project report is a summary of -
(A) Facts

(C) Analysis

YRA H $eIIC Hd YR galT o1 ?
(A) 1977

(C) 1997

mind

(B) AT T

(D) T &+t

(B) Informations

(D) All of these

(B) 1987

(D) 1995

When was Internet started in India ?

(A) 1977

(C) 1997

0T B W

(A) 71

(C) &

Steps of E-mail are :-

(A) Two

(B) 1987

(D) 1995

(B) IR

(D) srs

(B) Four

14



38.

39.

40.

41.

(C) Six (D) Eight

THH qUSRE Rerd 8 § —

(A) BaTS FgST R (B) 99 w18 W
(C) s<x7I8 W (D) XeTd ®IH W
Mortgage storage are situated at -

(A) Air Port (B) Bus Stand
(C) Port (D) Railway Station
WER—[E PI HIfed BIdT © :

(A) TehTaT T (B) w4

(C) T¥h (D) SuRIaT
The owner of the storehouse is :

(A) Individual (B) Firm

(C) Company (D) All the above

for= @ p—<r uRdgT &1 A T8 © ?

(A) Xt (B) wsw

(C) g (D) urguersT
Which of the following is not a means of transport ?
(A) Rail (B) Road

(C) Air (D) Pipeline

Ol @ STETST &Y dfel S AT ©

(A) AITER (B) g7
(C) SWRIaT (A) T (B) &1 (D) STRIaRT 7 (A) 3R 7 (B)

15



Ships may be divided into :

(A) Liner (B) Trumps

(C) Both (A) and (B) above (D) Neither (A) nor (B) above
42, 9RA H 3RS &1 99 ©

(A) SSoTa (B) F®RR H

(C) = (D) T4 & ®Ig Tl

Future of e-business in India is :

(A) Bright (B) In Dark

(C) Normal (D) None of these

43, 3-fIo § SUART BT ©
(A) PR (B) gvexTe
(C) B TAT VR QAT (D) =T & ®Is &l
Used in E-business is :
(A) Computer (B) Internet

(C) Computer and Internet Both (D) None of these

44. S—HMY /ST T TG BT &7 R AT T -
(A) I (B) s
(C) skt (D) &=

E-commerce/business has made the scope of business :
(A) Local (B) National

(C) International (D) Regional

16



45.

46.

47.

48.

R oI fderasiiel <wr § AMifise STReiid © ¢
AVESICERED (B) sHTaeI®

(C) 7T & g (D) 378 | BIg 2
In a developing country like India social responsibility is :

(A) Necessary (B) Unnecessary

(C) Wastage of Time (D) None of these

AT ST ufhar 2

(A) TPE—ufpar (B) Sred—ufma

(C) < kg a1 ufshar (D) s ¥ BIg T8I
Social responsibility process is :-

(A) one-way Process (B) Two-way Process

(C) Three-way Process (D) None of these

AR SNSRI BT {Ta-T Y07 Dol ©

(A) ST BT (B) fafraacrrait <

(C) gfciepdtai &t (D) =74 9 BT &1 A2
The spirit of social responsibility exploits :

(A) Consumers (B) Investors

(C) Suppliers (D) None of these

o

\ d
AfcTehdT HEaqul 7

(A) STa R Ua & fory (B) &1 ¥R e & forq
(C) IR yg=raig dwHaal & fag (D) 91 & forw

17



49.

50.

51.

Ethics is important for :
(A) Top management (B) Middle-level management

(C) Non-managerial employees (D) All of them

T ol S FaarT U™ HY Fhdl © ¢

(A) frer 4T w99

(B) ST &7 YATI—UF YT &) & T9alq

(C) ATUR YR &R BT FHV-TF U 8 & 915

(D) s & 31g T

A private company can commence business :

(A) At any time

(B) After obtaining the certificate of Incorporation

(C) After obtaining the certificate of commencement of Business

(D) None of these

U Hgad Yol arell Arduifie wwe @ fmfer 98 81 wadn © ¢
(A) f&=1 ufdeRor & (B) &1 erafiee &
(C) ReT B o (D) & & wt

A Joint stock public company can not be formed :-

(A) Without Prospectus (B) Without Articles
(C) Without Memorandum (D) All of these
THCT IERNRAT BT AR

(A)die & BT SRR T8 BT (B) die < @7 A aifeR g §

(C)dre 3 =1 of of@R 8T & (D) T 9 B

18



52.

53.

54.

Equity Shareholders ordinarily have :

(A) No voting right

(C) Full voting right
S B IIYERT B & -
(A) T

(C) 3eR

Shareholders of a company are :

(A) Owners

(C) Debtors

3fell & UPBR BId & :

(A) 4

(C)2

The kinds of Shares are :-
(A) 4

(C) 2

FDI 9 3R & —

(A) faceh veger faer

(C) o1 ferg Forer

FDI Means :-

(A) Foreign Direct Investment

(C) Public Deposit Investment

(B) Limited voting right

(D) None of these

(B) Forerd

(D) 379 & Bl el

(B) Creditors

(D) None of these

(B)3

(D) 5

(B) 3

(D) 5

(B) Frgess ucer foraer
(D) 3% & B TE

(B) Free Direct Investment

(D) None of these



55.  FHAT JFPTEMRAT BT FIT BT Sl § 7

(A) T & (B) 7l & RGN

(C) 71 & IReTdH (D) T B TGP

What are the Equity Shareholders called ?

(A) Owners of the company (B) Partners of the company

(C) Patron of the company (D) Managers of the company
56. g WA I (SSI) # =R M 7 —
(A) T BRI$ BRI I (B) &1 BRIS T Tk

(C) I FRIe W TP (D) TH PRIe BRI P
The investment Limit of SSI are upto :
(A) One Crore Rupees (B) Two Crore Rupees

(C) Three Crore Rupees (D) Ten Crore Rupees

57. BIc a9, Ul & H WERd © —
(A) e ISR (B) oM worgell
(C) SWIad gl (D) ¥R
Small business are helpful to generate :-
(A) More employment (B) Economic Strength

(C) Both of the above (D) Corruption

58. ol IURT I 99d & —
(A) AT ITATFATSI BT (B) Beax amaRar o
(C) SUHTaRI &I STdh & gRT (D) 379 A PIg Bl

20



59.

60.

61.

Wholesalers sell goods :-
(A) Directly to consumers (B) To Retailers

(C) To consumers through Post (D) None of these

ed @ SAR—ASE Bl af~=d o_dl & —

(A) o1 ST (B) HeaR @M
(C) fosiian (D) &7 & B T
Price Fluctuations are controlled by :-

(A) Wholesalers (B) Retailers

(C) Manufacturer (D) None of these

IgEID Gl UR IRGAT Bl ORI Bl B —

(A) Tfean (B) afgar

(C) \rT= (D) & & Trx e
The quality of goods on multiple shops is :-

(A) Inferior (B) Superior

(C) Normal (D) None of these

JUN dIGTIY S aleNl g -

(A) forfg 9vsRT & (B) ST gRT AR

(C) Igd&=Idh THMAI & (D) 379 | PIg Bl
Super Bazars are examples of :-
(A) Departmental stores (B) Mail order

(C) Multiple Shops (D) None of these

21



62.

63.

64.

65.

YRA &1 AUTT & AL B dTcdT ATIR HEATdl & —
(A) <= AR (B) faceht @R
(C) @Iy &R (D) 579 ¥ ®Ig &l

The trade between India and Nepal is called :-

(A) Home Trade (B) Foreign Trade
(C) Local Trade (D) None of these
3USUE BT ¢

(A) ferfa (B) #ifge

(C) forRaa derm Mg T4 (D) 379 A PIg Bl
Indent is :-

(A) Written (B) Verbal

(C) Written and Verbal both (D) None of these

S AT, It @1 g # S BN A AR Ao —

(A) gt BT (B) wfcrazer &1

(C) =1 81T (D) &% & BIg el

When import exceeds the export than balance of trade will be ;-
(A) Favourable (B) unfavourable

(C) Normal (D) None of these

i ufhar eRe Bt 8 —

(A) STeTN Rl § (B) Tove 9

(C) TR urel & (D) 37 | BIg 2

22



Export Process starts from :-

(A) Bill of Landing (B) Indent

(C) Charter Party (D) None of these
UfRT SHIE HF A HACT & —

(A) 2 T (B) Seuree

(C) Beax @RI (D) 5% | ®IS e
Less Profit Per unit is earned by :-

(A) Wholesaler (B) Producer

(C) Retailer (D) None of these

ATAT B FHY AU ATl AT GRITSD ©

(A) aT8d U (B) Yiferet A

(C) §& gmUc (D) I T®

While travelling, it is convenient to carry :-

(A) Bearer Cheque (B) Crossed Cheque

(C) Bank Draft (D) Traveller's Cheque

Ueh RPN Al T8 B, [T A= ARBR B gobdl Yol g9 HH T8
B =R -

(A) 50% (B) 51%

(C) 40% (D) 26%

A Government company is that whose paid-up capital of Govt. should
not decreased from this :-

(A) 50% (B) 51%

23



69.

70.

(C) 40% (D) 26%

AR A srfefras arikd gam o —

(A) 1912 (B) 1922

(C) 1932 (D) 1950

Co-operative society Laws was passed in :-

(A) 1912 (B) 1922

(C) 1932 (D) 1950

ATER) Fokg & 3MTd ¥ IRIER! & AfeR vd daw FuffRa s § —

(A) IEIERI & R (B) I & R

(C) AreieR S~ & R (D) ! |EAfd |

In the absence of Partnership deed the duties and rights of Partners
are determined by :-

(A) Partners (B) Court

(C) Under Partnership Act (D) Mutual consent

Huvs—9 / Section-B

oY I8 U39 / Short Answer Type Questions

TS AT 1 W 20 9P Y SN © | 599 I el 10 Ul & SR < | TAD D

forg 2 ofe PrafRa | (10x2=20)

Question no. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. (10x2=20)

IR b I R |7 8 ? 2

What are the various kinds of opportunities ?

24



10.

11.

QTR & RIT 7S © ? 2
What is the importance of environment ?

ISR HeATdh &I GRATT SIRTY | 2

Define market assessment.

IR JISRIdT &7 © 7 2

What is market feasibility ?

IR &I Jadd a1 g ? 2

What is promotion of business ?

ATESIG Bl T & ? 2

What is Public company ?

U T ARG H6H & YRS DI YHIAd B drel fsl IR gl
@ 9 sy | 2
Name any Four Factors affecting the starting of a new business
enterprise.

raoifh & W AT M © 2 2

What is meant by Public Sector ?

WRBN B & AT bl fTRay | 2
Write the merits of a Government Company .

YATSEI SUHH DI gRETYT SR | 2
Define a global enterprise.

IRATSHT g & o 9T 8 7 2
What are the elements of project cycle ?

25



12. TareEl & Afy = yeR | R ? 2

What are the various kinds of resources ?

13, BIRIR TdT T © 2 2

What is Courier Service ?

14.  9USRYEl & oM YPHR ISy | 2
State three types of Warehouses.
15.  Uced Ud AUR g & 4 ot iy | 2

Compare patents and trade mark.
16. S—DMY I T /M & ? 2
What is meant by E-Commerce ?

17. UYTIROT ARET0T T & 2 2

What is environmental Protection ?

18. IR P Ydd- & I hiSAIgAl DI goi BN | 2

Describe two difficulties in promotion of business.

19. ST Qe dRihy w7 © ? 2
What is EDP ?
20. PIY—YdIe FT & ? 2

What is Fund-Flow ?

" 9a9F 937 (Long Answer Type Questions)

U3 &I 21 ¥ 26 P <" SR © | 398 9 gl 3 el @ SR < | UAd YA
@ forv 5 3fa iR €| (3x5=15)
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Question no. 21 to 26 are Long Answer Type. Answer any 3 questions. Each
question carries 5 marks. (83x5=15)
21, UP Il Bl faRIvarsi &I \Hssy | 5
Explain the Characteristics of an entrepreneur.
22. AA-fIeeg fovg &1 MaRy & f&ar S & ? 5
How break-even-point is determined ?
23.  SgHl Yol @ faRarsil &1 auie @ | 5
Describe the characteristics of Venture Capital.
24,  FEHN AMRT DI AREINT BT | 96T faRryamil &1 9o @ | 5
Define co-operative society. Explain its characteristics.
25.  UdH AHA IUDH DI AMEID I DI {Iae =TT B | 5
Discuss the requisites of a successful enterprise.
26.  AUSHIY JUHH b el Uld I BT qUF B | 5

Explain any five merits of a Global Enterprise.
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